WOHNUNGSSPIEGEL HAUS A + HAUS B

3.0BERGESCHOSS
2.0BERGESCHOSS
1.0BERGESCHOSS
ERDGESCHOSS

113.9 m* - 41/3.1

102.1 m* - 41/3.2

111.5 m* - 43/3.1

144.0 m* — 43/3.2

113.9 m* - 41/2.1

102.1 m* - 41/2.2

111.5 m* — 43/2.1

144.0 m* - 43/2.2

113.9m*-41/1.1

102.1 m* - 41/1.2

111.5 m* - 43/1.1

144.0 m* — 43/1.2

112.2 m?

—41/0.1

100.4 m* - 41/0.2

109.8 m* —43/0.1

132.1 m* - 43/0.2

m?-Angabe exkl. Balkon gerechnet

HAUS B

79.3 m* - 45/3.1

98.9 m* — 45/3.2

114.1 m* - 47/3.1

137.0 m* - 47/3.2

79.3 m*—45/2.1

98.9 m* — 45/2.2

114.1 m* - 47/2.1

137.0 m* - 47/2.2

79.3 m*—45/1.1

98.9 m* — 45/1.2

114.1 m* - 47/1.1

137.0 m*—47/1.2

77.4 m*—45/0.1

97.2 m* — 45/0.2

112.4 m* - 47/0.1

HAUS A

135.2 m* - 47/0.2

m?*-Angabe exkl. Balkon gerechnet

3.0BERGESCHOSS
2.0BERGESCHOSS
1.0BERGESCHOSS
ERDGESCHOSS



